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2012 
AIR FARE AND TICKETING - III 

Time Allotted : 3 Hours Full Marks : 70 
 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words 

as far as practicable. 

GROUP – A 

( Multiple Choice Type Questions ) 

1. Choose the correct alternatives from the following :  
  10 × 1 = 10 

i) SAS Airways belong to    

a) Australia  b) South Africa 

c) Sweden d) none of these.  

ii) The two letter airline code of Aeroflot is   

a) AF b) AT 

c) SU  d) RF . 

iii) The Airline code number OO3 denotes which airlines ?  

a) American airlines  

b) Air China  

c) British Airways  

d) Continental Airlines. 
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iv) Varig is the name of Airlines of which country ?   

a) Austria   b) Brazil 

c) Spain d) None of these.  

v) The three letter city code for Ranchi is    

a) RAN b) RCI 

c) IXR  d) IXN . 

vi) The headquarters of AMADEUS is located at    

a) Germany   b) U.K. 

c) U.S.A. d) Singapore. 

vii) The three letter city code of Srinagar is 

a) IXS b) IXR 

c) SXR d) SRI .  

viii) The three letter city code of Addis Ababa is  

a) ABD b) IXA 

c) ADS d) ADA . 
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ix) How many types of International Sales indicator are 

used in Air Fare and Ticketing ? 

a) 2 b) 4 

c) 3  d) 5 .  

x)  The Airline code number of Air India is  

a) 125 b) 098 

c) 058 d) 074  

GROUP – B 

( Short Answer Type Questions ) 

 Answer any three of the following.  3 × 5 = 15 

2. Decode the following city codes : 

 a) DHA b) OSA c)  ISB  d)  MNL e)  MEL 

 f) IXZ g) TRV h) IXE i) IMF j)  AGR.     

3. Write short notes on the following : 

 a) Back Haul check 

 b) Global Indicator. 

4. Write down the two letter air-line codes of the following        

air-lines :   

 a) Kingfisher b) Jet Airways 

 c) Spice Jet d) Quantas Airways 

  e) Kenya Airways f) Malaysian Airlines 

 g) Royal Nepal Airlines h) Air Emirates 

 i) Lufthansa j) Swiss Air. 
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5. Write short notes on the following : 

 a) MPM and TPM 

 b) BBR and BSR. 

6. Write down the Global indicator of the following routine : 

 a) Dubai-Delhi-Bangkok 

 b) Colombo-Tokyo-New York 

 c) Nairobi-London-Buenos Aires. 

 d) Moscow-New Delhi-Kabul-Colombo 

 e) Tokyo-Los Angeles-Johannesburg-Paris. 

   

GROUP – C 

( Long Answer Type Questions ) 

 Answer any three of the following.  3 × 15 = 45 

7. a) Write a note on add-on fare. 
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 b) Calculate the fare of the following routine. 

   Fare type = 'Y' Class, Transaction code - SITI 

   Routine 

   London 

   Rome British Airways 

   Addis Ababa ALTITALIA 

   Bombay Ethiopian Airlines 

   TPM = 898,  2779, 2383, 

   NUC = 1272·59 

   ROE = 0·634337 (1) GBP 

   G.I. = Eastern Hemisphere 

   MPM = 5863.   

8. a) Briefly explain various steps required while planning an 

itinerary by AIR. 

 b) Write a note on special fares.   
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9. a) Write a note an TIM. 

 b) What is HIP ? Explain the use of EMA and EMS in fare 

calculation with suitable examples.   

10. What is CRS ? Explain the role of AMADEUS, GALLILEO and 

WORLD  SPAN for promoting Airlines business worldwide.  

11. Calculate the fare of the following routing : 

 (Back-haul check required) 

 Fare type = 'F' class 

 Transaction Code : SITI  

 Routing : 

   Amsterdam  

   Paris KLM Royal Duth 

   Delhi Air India 

   Chennai Air India 

   Mumbai Spice Jet. 
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 HIP Table : 

AMS AMS    

PAR .... PAR   

DEL 1634 1793·21 DEL  

MAA 1836·66 2016·16 ..... MAA 

BOM 1634 1793·21 ..... ..... 

 TPM = 259, 4086, 1095 , 644 

 MPM = 5689 

 G.I. = EH 

 Passenger is getting 700 as EMA if he is travelling via DEL 

and BOM. 

 R.O.E. = 0·71(1) EUR.       

     


